H & 0l & AHS B Ml A

SA - HY - S9I(3) - HIRAY - BAS o &r 7| 3 o HDS2
Fe=X 40,426,055 38,829, 158 1,596,897
= 20,418,789 20,032,333 386,456
[ 760,529 760,529 0
Jl 67,000 67,000 0
& 4,139,378 3,946,035 193,343
= 15,040,359 14,023,261 1,017,098
KNEAR 28 S8 2,121,034 2,117,474 3,560
= 1,315,065 1,206,641 109,424
== 103,827 99,990 3,837
= 702,142 811,843 A109,701
KIS Atel SXIXIE 474,334 592,905 A118,571
T 18,566 18,566 0
Ea 455,768 574,339 /118,571
ASIER R ztel(Ql2d]) (MEAL) 262,200 342,000 AT79,800
301 EtE NS 262,200 342,000 AT79,800
0 ARI=SR2E2d= 262,200 342,000 79,800
CAZERRY E4=(22H])
dd 90,0002 *23E* 12 262,200 342,000 AT9,800
ABI=Re@ X2l (HIAH]) (M EAY) 60,227 98,998 A38,771
301 2eEN= 60,227 98,998 A38,771
10 AR=SR224= 60,227 98,998 A38,771

BE 4,000 %23 #2202 20,240 44,850 N24,610
oAEER2 024 S
Fd 300,600 12 3,716 4,648 932
oAEE2222 CHHAIEE JH (2HI=It
) A 37,0002 234 851 1,200 349
SARER222 SAH|(24II})
AE 7,000 %238 #2202 35,420 48,300 ~12,880
PE=ONEE! 1,646,700 1,524,569 122,131
= 1,315,065 1,205,641 100,424
< 85,261 81,424 3,837
2 246,374 237,504 8,870
ez 1,033,268 913,602 119,666
=2 929,941 822,242 107,699
(= 30,998 27,408 3,590
= 72,329 63,952 8,377
307 QI2+0|& 929,468 809,802 119,666
=2 836,521 728,822 107,699
[ 27,884 24,294 3,590
= 65,063 56,686 8,377
05 QIZIREZ 929,468 809,802 119,666
oXIGNEME AE22AHY
3 929,468,000 929,468 809,802 119,666
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SN FOI=XD
M XAASEE ST
cHel NE X

S - BE - BI(3) - NRAY - BAS O] a0 ol H o CImE==
= 836,521 728,822 107,699
= 27,884 24,294 3,590
= 65,063 56,686 8,377
KNS TEHE 2H(2x) 262,965 260,500 2,465
= 184,075 182,350 1,725
s 26,297 26,050 247
i 52,593 52,100 493
307 212t01 & 262,965 260,500 2,465
= 184,075 182,350 1,725
T 26,297 26,050 247
= 52,593 52,100 493
10 AlRISXAIEEHE 22X 262,965 260,500 2,465

o XXM 23|

Z2E 262,965,000 262,965 260,500 2,465
= 184,075 182,350 1,725
= 26,297 26,050 247
= 52,593 52,100 493
=tE=2e| 2 XA 1,588,300 1,548,620 39,680
L= 194,900 185,220 39,680
ik 1,393,400 1,393,400 0
222 29 1,588,300 1,548,620 39,680
= 194,900 155,220 39,680
= 1,393,400 1,393,400 0
2E 2d A & EEHH X 136,900 134,900 2,000
= 2,000 0 2,000
= 134,900 134,900 0
307 212t01 & 119,000 117,000 2,000
= 2,000 0 2,000
= 117,000 117,000 0
02 QIRHEAAIHE X 43,200 41,200 2,000
OSIFAMSAAMS(MALEA) 2,000 0 2,000
-HEE 1,000,000& 1,000 0 1,000
= 1,000 0 1,000
-2 2tE 2 B 75,0003 *2JH 150 0 150
L= 150 0 150
-HHEHE] EH=D1(B) 2,000& *3507H 700 0 700
= 700 0 700
-HHEOHE] ER=D1(CH) 7,500 20K 150 0 150
s 150 0 150
28 AIEE 2l 31,000 31,000 0
401 AIEHIZL 2018 26,000 20,000 6,000
01 AlIZHI 26,000 20,000 6,000
oEHEAIE (ALAL) HE=(402-0101H SHA) 6,000 0 6,000
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S FRI=XID
u: 2pEe Y N
SCHICE SIS L)
SA - BB SRAGIH) - NSAY - BES il v ol o HlDE2
402 RIRIXHZ01H 0 6,000 £6,000
01 SIIXHR A B E (RAITHE) 0 6.000 £6,000
SBBAIL (LA HE4 (401012 2H1H) 0 6,000 £6,000
Mol s HHRTNYUSY(2X) 154,320 116,640 37,680
= 154,320 116,640 37,680
301 YL BFHZ 154,320 116,640 37,680
= 154,320 116,640 37,680
2 ASIZHEAFIZ(FAHS, L) 154,320 116,640 37,680
oHRALE BHRTA Y0+
2% 154,320,002 154,320 116,640 37,680
= 154,320 116,640 37,680
2ol SIS 20,584, 161 19,949,809 634,352
2 9,376,732 9,099,700 277,032
< 2,468,537 2,318,711 149,826
2 8,738,892 8,531,3%8 207,494
ZOHO MBOIY X2 20,584, 161 19,949,809 634,352
= 9,376,732 9,009,700 277,032
= 2,468,537 2,318,711 149,826
2 8,738,802 8,531,308 207,404
ZOHO! BAF & SHHIXI 127,500 140,500 A13,000
= 8,100 12,000 £3,900
2 119,400 128,500 £9,100
201 B2t 27,000 40,000 A13,000
= 8,100 12,000 £3,900
2 18,900 28,000 £9,100
03 BAL2 Y| 27,000 40,000 A13,000
oTOYO BAW X S T2
A% 27,000,002 27,000 40,000 A 13,000
= 8,100 12,000 3,900
2 18,900 28,000 £9,10
ZOHO! HOISSAIL XIS 1,000,995 1,043,455 £42,460
= 200, 199 208,691 £8,49
2 800,79 834,764 £33,968
307 SI2H0IH 1,000,9% 1,043,465 £42,460
= 200, 199 208,691 £8,492
2 800,79 834,764 £33,968
10 ABISXAIZEZ 2R X 1,000,9% 1,043,465 242,460
oTOHQ HOAISZAIL X
A 125, 124, 3752 +20H A #42) 1,000,995 1,043,455 A42,460
= 200,199 208,691 £8,4%2
2 800,7% 834,764 £33,968
DK HF U FABANL CHIZE 56,720 45,200 1,520
= 17,016 13,560 3,456
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2A:

= _X;_’OH I SXsa
CHel: ZOHQ! MEOrE X (SH &)
SA - FE - SRA(3H) - MRAE - BES Off &4 I8N Hws2
[ia 39,704 31,640 8,064
307 212+01& 56,720 45,200 11,520
=S 17,016 13,560 3,456
s 39,704 31,640 8,064
10 MeISXAEHE2EHIEX 56,720 45,200 11,520
SHUBHALE SAK E8=E X
ZE 120,000& +37H 122 53,280 41,760 11,520
< 15,984 12,528 3,45
s 37,29 29,232 8,064
O MEOISXZME 2 166,500 159,300 7,200
&< 33,300 31,860 1,440
= 133,200 127,440 5,760
307 212+01™ 166,500 159,300 7,200
=S 33,300 31,860 1,440
s 133,200 127,440 5,760
10 MEISXAEHE2EHIEX 166,500 159,300 7,200
SRHHOIME | EXAME 29
BE 41,625,000& * 10 %42 0| 166,500 159,300 7,200
< 33,300 31,860 1,440
s 133,200 127,440 5,760
o se=si2 2E X2 1,543,033 1,333,087 209,946
& 223,123 190,963 32,160
= 1,319,910 1,142,124 177,786
307 212+01™ 1,487,487 1,273,087 214,400
S 223,123 190,963 32,160
= 1,264,364 1,082,124 182,240
10 MEISXAEHE2EHIEX 1,487,487 1,273,087 214,400
oZEE=X2 28 X
2 371,871, 7503 14 2+42 0| 1,487,487 1,273,087 214,400
< 223,123 190,963 32,160
[ias 1,264,364 1,082,124 182,240
401 AlIEHIZL R 0HY| 55,546 60,000 N4 454
01 A&l 55,546 60,000 N4, 454
&7 ZMZE EXl S
& 55,546,000 55,546 60,000 N4, 454
SSTMY NEXEE FHHAA 87,039 87,039 0
S 26,112 26,112 0
i 60,927 60,927 0
101 Q124H| 83,779 87,039 A3,260
< 25,134 26,112 A978
[ias 58,645 60,927 N2,282
04 JIZtN2Z2 S8+ 83,779 87,039 A3,260
oSSTL NSES FHAXH
3 1,163,5073 6H 123 83,779 87,039 A3,260
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2A:

FaH: ;;0H I SXISE
Celr ZOoHe! MEotE X (St &)
SA - ZE - SA(FH) - AIRAY - BES Ofl &kl N3 A Hunsz
= 25,134 26,112 A978
= 58,645 60,927 N2,282
201 L2 | 3,260 0 3,260
& 978 0 978
[ 2,282 0 2,282
01 At 22|l 3,260 0 3,260
oZZTHML XNEXESE FAXR ArR2e
af & 45,2773 x6H*123] 3,260 0 3,260
= 978 0 978
= 2,282 0 2,282
LETHEAEIA BRI 188,852 160,800 28,052
= 132,196 112,560 19,636
= 16,997 14,472 2,525
= 39,659 33,768 5,891
308 AXIEHMSOIN 188,852 160,800 28,052
= 132,1% 112,560 19,636
= 16,997 14,472 2,525
[ 39,659 33,768 5,891
13 BI 12 SOICHEHE A X LAE AL 188,852 160,800 28,052
SXHONOISIHEXIE (L LTHEAMHIA)
ZE 47,213,000 42| 188,852 160,800 28,052
= 132,1% 112,560 19,636
= 16,997 14,472 2,525
i 39,659 33,768 5,891
SOl M2 (EH]) 4,000 5,600 21,600
= 1,200 1,680 A480
i 2,800 3,920 A1,120
307 2I2+0l ™ 4,000 5,600 21,600
= 1,200 1,680 2480
= 2,800 3,920 21,120
10 Al SXAIEHE2ZHIEX 4,000 5,600 21,600
oUSFOL AHEL2Y
28 4,000,000& %102 4,000 5,600 A1,600
& 1,200 1,680 A480
i 2,800 3,920 21,120
ZOHRIERD|D| e 10,625 11,919 A1,294
= 1,300 2,336 21,036
= 9,325 9,583 A28
301 LBENF 1,625 2,919 A1,294
= 1,300 2,336 21,036
= 325 583 A258
01 Al B&XHZ2(2REETA) 1,625 2,919 A1,294
oZOHel EZXD|J| XA
28 125,0008 1358 1,625 2,919 A1,294
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2A: FOISX
M Zofe =S
Sl Hojel Moty X2 (SH &)
SA - FE - SRA(3H) - MRAE - BES Off &4 I8N BlunsZ
= 1,300 2,336 A1,036
s 325 583 A258
Zjelas=Ex JHaE0 202,706 102,820 99,886
= 141,8%4 71,974 69,920
[ 18,244 9,254 8,990
[ias 42,568 21,592 20,976
308 XXM SOIE 202,706 102,820 99,886
= 141,8%4 71,974 69,920
== 18,244 9,254 8,990
ia 42,568 21,592 20,976
18 SV 2SS & AET AL 202,706 102,820 99,886
oH0He ESEX IS0
Z2F 50,676,5008 x4 202,706 102,820 99,886
= 141,8%4 71,974 69,920
== 18,244 9,254 8,990
[ia 42,568 21,592 20,976
ZOHel MATHEAIL A 2,099,999 2,100,000 A1
= 361,892 361,892 0
s 253,324 253,324 0
a 1,484,783 1,484,784 A1
401 AIEHIZ SR OHYI 2,099,999 2,100,000 A
= 361,892 361,892 0
= 253,324 253,324 0
= 1,484,783 1,484,784 A1
01 AlZHI 2,074,999 2,100,000 /25,001
SXOHQ! MATHEAIL A
33 698,784,000 698,784 723,785 225,001
= 349,392 361,892 12,500
= 244,574 253,324 28,750
= 104,818 108,569 3,751
02 Zeltl 20,000 0 20,000
oZOHR HAMEAIL A- el
20,000,000 20,000 0 20,000
= 10,000 0 10,000
= 7,000 0 7,000
i 3,000 0 3,000
03 A& S CHYI 5,000 0 5,000
oZOHR HAMEAIL A SO
5,000,000& 5,000 0 5,000
= 2,500 0 2,500
s 1,750 0 1,750
a 750 0 750
ZOHel FUESAIE HE 2,400,000 2,400,000
= 349,250 349,250
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2A:

A _X:*OH R
Celr ZOoHe! MEotE X (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
(= 244,475 174,625 69,850
s 1,806,275 1,876,125 AB9,850
401 AlIEHIZL 2 0HYI 2,400,000 2,400,000 0
= 349,250 349,250 0
S 244,475 174,625 69,850
s 1,806,275 1,876,125 AB9,850
01 A<l 2,375,000 2,400,000 225,000
o ZOHR FAESAlE AE
2 & 673,500,000 673,500 698,500 /25,000
= 336,750 349,250 A 12,500
S 235,725 174,625 61,100
s 101,025 174,625 AT73,600
02 Zeltl 20,000 0 20,000
oFOHO! FASSAIE A 22/l
Z2F 20,000,000 20,000 0 20,000
= 10,000 0 10,000
(= 7,000 0 7,000
[ias 3,000 0 3,000
03 AIZ 2 0HYI 5,000 0 5,000
oZOHQ FUHESAIE AZ 2Ol
Z& 5,000,000 5,000 0 5,000
= 2,500 0 2,500
(= 1,750 0 1,750
s 750 0 750
ZEE LY SESSHUIA(FZIHE) X 233,803 0 233,803
= 116,902 0 116,902
(= 35,070 0 35,070
[ias 81,831 0 81,831
307 212t01 & 233,803 0 233,803
= 116,902 0 116,902
S 35,070 0 35,070
s 81,831 0 81,831
11 ARIZEXAIEE X 233,803 0 233,803
oxEE YYHML SESS(F2AUMHE) 233,803 0 233,803
= 116,902 0 116,902
S 35,070 0 35,070
s 81,831 0 81,831
ISE LEHM SEFSSMUIA(FAOE) X 102,300 0 102,300
= 71,610 0 71,610
= 9,207 0 9,207
= 21,483 0 21,483
308 KEXIEHMSOIH 102,300 0 102,300
= 71,610 0 71,610
== 9,207 0 9,207
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S SR
M HoHe =EXEX
Celr ZOoHe! MEotE X (St &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
= 21,483 0 21,483
183 SIS0t 4 EAS AL S| 102,300 0 102,300
oXEE LY SEFSS(FUIE)
102,300,000 102,300 0 102,300
= 71,610 0 71,610
= 9,207 0 9,207
= 21,483 0 21,483
MEIEXSSMEIA X 1,660,533 1,660,533 0
= 248,024 248,024 0
[ 666,463 666,463 0
| 67,000 67,000 0
(= 173,607 173,607 0
[ias 505,439 505,439 0
DA Mg & 2e) 21,290 21,290 0
= 7,500 7,500 0
S 6,500 6,500 0
s 7,290 7,290 0
DEAR Ol Y 22HAH RE(BX) 15,000 15,000 0
= 7,500 7,500 0
= 4,500 4,500 0
= 3,000 3,000 0
201 L= 2,454 0 2,454
= 1,227 0 1,227
= 736 0 736
2 491 0 491
01 AtR22telbl 2,454 0 2,454
oNSA (g EEZAS /T et Re0|
A& 24,5402 +100H 2,454 0 2,454
= 1,227 0 1,227
= 736 0 736
s 491 0 491
301 Y22 12,546 15,000 N2,454
= 6,273 7,500 N1,227
= 3,764 4,500 VAVACS]
i 2,509 3,000 A4
01 AISIEE A 6IZ (2 REXTHE) 12,546 15,000 A2,454
SSAF OIE 2 ARSIE DB SHR AT
JI A S ZE 41,0002+51E 46 12,546 15,000 A2,454
= 6,273 7,500 N1,227
= 3,764 4,500 VAVACS]
i 2,509 3,000 A4
HH2LIHI(FLU=ID) 356, 150 3%, 150 0
= 33,234 33,234 0
s 94,066 94,066 0
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A FOI=XID
Ha: SHH2HAY(FU=XD])
SE BRI (ehol:®el)
SN - GA(SH) - NRAY - BES O] a0 N E o HlRE2
< 13,857 13,857 0
2 214,998 214,998 0
SEEET 331,235 331,23 0
2 33,234 33,23 0
2 94,066 94,066 0
= 13,857 13,857 0
2 190,078 190,078 0
SSARIZIRIAL Q121H] X1 (XHAI) 22,240 24,240 £2,000
101 Q1248 16,000 18,000 £2,000
03 R (LIIH)2ENE2S 16,000 18,000 £2,000
oSS ARIBRIAL Q121 X2
2% 2,000,002 4% 16,000 18,000 £2,000
202 01t 6,240 6,240 0
NETEE 2,400 2,400 0
oSEARIZRIA 2ol DROiY|
100, 00021422 123} 2,400 2,400 0
REAZAF ROILIOIE Q124H] K2 24,000 22,000 2,000
101 124 24,000 22,000 2,000
REEEIESPTESEEPI=RS 24,000 22,000 2,000
oXtEIZAF DOIUIOIE QI1H| X (25
oh 2% 2,400,000 2245 24,000 22,000 2,000
WRES(F0I=X1) 1,608,902 684,597 919,305
SHNS 887,223 %68 886,255
SHXE 887,223 %68 886,255
802 BHEr20IE} 887,223 %68 886,255
NEREEENEE 767,964 0 767,964
SIAE AT ALY RH| &40 (20-22)
10,960, 0002 10,960 0 10,960
o20BHE 2ESAYE 32 SLSX(
OIXtE ) 34,311,0702 3%.312 0 34,312
o20288 2IZZ0IARIBR2IAL Q1 24HI(0I Xt
2) 16,074, 7802 16,075 0 16,075
o20288 JIZME BRI (MH e, R
285,671,75024 285,672 285,672
o203 ASEX X 8,309, 0002 8,300 0 8,309
o084 KIRSAZAS XA (0IXHES)
1,262, 0002 1,262 0 1,262
o20288 FOHQ! FEINE XIR A (0IXHEE)
34,8802 135 0 135
o20218 OIAZOYQ! BAHIS X (0IXHEE)
1,404, 2002 1,405 0 1,405
©2023 ZOHQICIZH| XIR AR (0IXHEE)
33,2002 % e
o284 KHE2Z A 117,780,01024 117,781 117,781
<2023 K2 ZA(0IXH) 98,3902 199 199
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2A:
X XH -
(=

=aak

A - B - SA(SA) - N - BES Ofl &F2H I8N Hws2
o20223 XIGAS MHIA SXHAF (O XHELE)
5,214,000& 5,214 0 5,214
o2022F JtARIE L Z X &AL (01 XL E)
2,866,000 2,866 0 2,866
o202 HANSHL XA (0| XHLE)
5,500,000& 5,500 0 5,500
c0RBE SHs XEE SEAMUIA(OIXEE)
288,000 288 0 288
20234 XIGXEE ASIAHIA HE0ESH
ZA (O E) 3,232,000& 3,232 0 3,232
20238 XIGAEE XS A2 MEIA FXFA
2 (0IXHZE) 49,341,000 49,341 0 49,341
2023 KIHXEE Atel MHIA JHARIE 2
2N (01K E) 9,289,000 9,289 0 9,289
o023 DZULHI ME XA A (OIXHEE)
6,690,000 6,690 0 6,690
=20238 HoHelH= 62,294,320& 62,295 0 62,295
o20234 HoH=Z(JI1x) 3,076,000& 3,076 0 3,076
o023 HOH=E(Xtatel) 1,615,620 1,616 0 1,616
o20234 ZoHRIL X2 (M LM ) (Ol AHEE)
426,320 427 0 427
=2023E8 FHS AL (01 XL E)
121,745,630 121,746 0 121,746
©20234 ZOHQI LRt (SRILXtel) (Ol RHEE)
7,570,420 7,571 0 7,571
©2023E ZOHRIL X2l (Al2HAI) (01 KHIEEY)
4,045,960 4,046 0 4,046
©2023E 0N LKt (Al2QFOEARIEA) (OI A
Z8h) 8,622,570& 8,623 0 8,623
02 Al - EHIEXSEtet= 119,259 968 118,291
o023 dMetd: FdRIN Holl=E
9,570,000 9,570 0 9,570
20238 dMetde EEHU S
6,620,000 6,620 0 6,620
o2022E XIGAS MHIA SXHAF (OIXHEEY)
391,000 391 0 391
20223 JtARIE L Z X &AL (01 XHLE)
215,000 215 0 215
o2023E F=HS AL (01 XL EL)
15,218,060 15,219 0 15,219
c02d HANSHUXI A (0IXHELE)
413,000& 413 0 413
20233 S0 Atell 22l At @1 24H[ (0 KL
&) 2,815, 150& 2,816 0 2,816
o023 SHE UEE SEAMHIA KR (01K
Z8) 13,000& 13 0 13
o023 XIGXEE SXAIS (RIS RIZAHE)
HUEADISAHLAIS (OIXHEE!)
243,000 243 0 243
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2A:
PSR
ool

SN - FH - G(EH) - NRAY - BAS 0 &t N E o blnE2
o2023E XIAXEE XNSAIBIMEBIA SXEAL
A (0| KFELE) 3,701,000& 3,701 3,701
o2023F XIFREES At2IAHIA DAY 2
ZXIE A (OIRHEZE) 697,000 697 697
o023 2elsUl SXIDISH KA (01X
s 1,132,000& 1,132 1,132
o023 DZLH9 MEX|AH| KA (01X
=38) 4,006,0002 4,006 4,006
o088 SERIN RE E2HU+E
450,000& 450 450
o038 SERIN |E =4l NS
1,105, 140& 1,106 1,106
oXHAES XA S| EH4=0(20~22)
822,000 822 822
o239 2EsJU= ==X 235X
OIKtEE) 2,556,000 2,556 2,556
202343 2IZ= XK 1,039,000& 1,039 1,039
o2023E THASAHE 2 243 X3 AH(
Ol Kt &) 304,000 304 304
o023 HOHQ! =EONT X2 ArI(OIRHEE)
40,4102 41 41
o021 GHE AR SAHIS XA (0IRELE)
180,540& 181 181
o2023E FoHelelz | XA A (OIRHEZE)
2,400& 3 3
o023 ZOHe! LXtel MM (OIKtEE)
142, 7403 143 143
o023 ZoHe! LXtel AlIZHMI(OIKHIEE!)
1,215,720& 1,216 1,216
o2023E FoHC! LXte| SXILXtel (0IXELE)
2,278,120& 2,279 2,279
©2023E ZOHQ! LXtel AIZFEO0HQ! COFAHIF
(0| XL E) 646, 1702 647 647
o023 ESZEMC! XNEXES FHAXIA(O
A=) 440,790& 441 441
o2023E HOHCIE SR SHIXIA(0IXEE)
5,544 ,540& 5,545 5,545
=20238 HHRIH= 8,037,460& 8,038 8,033
o20234 HoH=Z(I1=)(0IXEE)
400,170& 401 401
o2023E o= (X&) (01 XL E)
207,400 208 208
=20238 HOHRIHFAlE JERAH|
50,000& 50 50
o2022E HOHQIMEOISKIRMEH 29
4,010& 5 5
o20234 FOHQ! S XREY Z2OH 2
(0| KFELEH) 1,400,300& 1,401 1,401
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2 F0I=X2
HE: HRES(F=X)
Sl 2HAE EERE)
SA - B S(BH) - MRAY - BES ol &b o4 /iR ClImE=T]
o20BE HOHQI=XI 2 2% (0IXHELE)
1,473,100 1,474 0 1,474
o203 KIAABI2HBOIH HYAA 01
I 4,523,3002 4,504 0 4,524
o20BE KIAASIBHEOIH HYXA oA
HI(OIXH) 1,2102 2 0 2
o023 ZOHQl BOSEI|IEXIRME 2(
OIXH) 2,4402 3 3
o20BE KDALY 3,846, 1002 3,847 3,847
o034 FOYQI= KB SAH| X2 (0IKH)
7,8902 8 8
o202BE KHE2E A (0IXH) 9,650 10 10
o208 J|EME B TTON (A, AL ZR)
35,708,97021 35,709 0 35,709
o20BE AEISXIAIL BAK AHEE2
275,000 275 0 275
o20BE AT B Y HorsAy| K
(IRt St) 524,450 525 0 525
o208 K THI2 XA (01X}
1,370 2 0 2
EEIE(2SUAIY) (AZSHAILSESIH) 74,449 41,39 33,0850
2 ZOIAIY S| FHXM b 74,449 41,39 33,0850
802 Bre20IE 74,449 41,399 33,050
2 Al - CHIRE2u a2 74,449 41,399 33,050
SNBHEE |22 01IZ(0IKHEE)
33,050,000 33,050 0 33,050
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